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Exercise 9.1: (6 P)
Prove that the following formulae are valid using the tableau calculus presented in the lecture.

1) 0PV Q) = (0P VOQ)
(2) (OPVOQ) = O(PVQ)
(3) O(PAQ) — (0P AOQ)

Exercise 9.2: (2 P)
Prove that the formula A is satisfiable using the tableau calculus presented in the lecture.

A (0P AOQ) — (P AQ))

and construct a Kripke model K = (S, R,I) and a state s € S such that (K,s) = A using a
saturated tableau for A.

Exercise 9.3: (2 P)
Construct a saturated or closed tableau starting from the following prefixed formula:

T(EOP A OP) — OOP)

Please submit your solution until Wednesday, January 18, 2012. Please do not forget to write
your name on your solution.



